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OJlEZ=s 2,846,850« 128 +3¥ 102,487
OJE+g 40,0002 12«18 480
OE &=l
2,846,850 x60%+3H <22 10,249
Odxt+=& 120,4403 924 +34 3,252
OAlAZ 25
15,0053 * 1.5+ 10A| 2H+522=+3H 35,229
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A HFL
A HZRIZH(BEY)
Eel: oA AH|(SZRA) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEEEET 206,002+ 12232 7,380
OFABS2T224Y
100,000 x 12 +3& 3,600
Ootgl &S| 50,0002 x 12«3 1,800
=R 40,0003 x 12 x3H 1,440
S22 X2 (TH2) 157,977
OFJI==) 2,910,340 « 123 x3H 104,773
NRHHA+E 105,000& x 12 +3H 3,780
OJEsg 40,0003 12& »2H 960
OEEFIHI
2,910, 340 x60+3 H *22] 10,478
Ouxt=g 108,640 x84 x3H 2,608
OAIRt 2=
13,5803 *1.5¢10A| 2H+522=+3&H 31,778
ORIg+d 50,0002 x 122 *38 1,800
oISl 50,0002 x12 & +3% 1,800
Ondst=HelAlE 223 (TH2) 56,049
oJlzs 2,960,840« 122 +1L 35,531
OJEsg 40,0003 123 ~1H 480
OEEFIHI
2,960, 8402 600k 1 H <23 3,554
Ouxt=g 121,600 x5 x18 608
OAlt2I22+E
15,2002 *1.5%10A] 2H+52F=+ 1 11,85
OXREe=g 105,000& x 2@ «1H 1,260
ORESEFN2ZRE
100,000 x 121 1,200
OJl=8e=¢g 40,0002 x 121 480
O%g+d 40,0002 12«1 480
oIS 50,0002 12& 1 600
o=d+g 78,4303 x 122 ~42FH 39,529
A=F8= 14,861,088 12,067,540 2,793,548
M HA=FE=SS 14,861,088 12,067,540 2,793,548
01 gsf8=s 12,538,830 9,597,491 2,941,339
oKsTf8=s 51,537,125,000& % 4,638,342
o2d=s 51,537,125,000& %10.595% 5,460,359
OEX+gRe=
51,537,125,000& *4.5257% 2,332,416
OMHE2ARE =
51,537,125,000&+0.20%% 107,713
2 =uH2EE= 1,943,589 1,99%,286 A52,697
O=LRALEEHI(SRH)
48,540,219,3102 *3.545% 1,720,751
OLRALTHZR(BRH)
1,720,750, 7743 %12.95% 222,838
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